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1. Napiš pod sebe a sečti:

0. 678,947 + 42,83 + 943,2 + 4,712 + 978,5 + 436,892 = 			
0. 897,4 + 36,923 + 4,713 + 96,723 + 983,4 + 38, 726 = 			

1. Napiš pod sebe a odečti:

1. 76,814 - 49,725 = 															
1. 6 982 354 - 196 826,08 = 													

1. Sečti a odečti součet a rozdíl daných čísel 28 a 34,5.

1. Vypočítej:

1. 9,15 + 67,16 : 7,3 – 10,824 =				
1. 752,312 : 0,83 – 718,92 =						
1. 487,6 – 3 712,512 : 9,6 + 96,7 . 3 =		
1. 972,463 – 639,247 . 0,6 =						
1. 31,6 + 2,14 . 3,9 – 29,3 =						
1. 87,4 + 97,814 . 702 =							
1. 31,6 + 2,14 . 3,9 – 29,3 = 		


5. Vypočítej:


0. 27,6 . 42,08 =	
0. 506,3 . 409	
0. 3,4 . 8,7 =	
0. 76,9 . 8,4 =	
0. 380 . 2,07 =	
                  =		

4. Vypočítej:



0. 617,78 : 7,9 =  		44,8 : 0,35 =	
0. 40,572 : 0,84 = 		5024 : 0,64 =	
0. 111,94 : 2,9 =  		388,69 : 4,7 =	

1. Vypočítej:


0. 4,2 – 3,8 =	
0. 12,7 + 4,9 =
0. 179,74 : 3,8 = 		
0. 0,14364 : 0,57 =	
0. 7,3 – 4,9 =	
0. 126,96 : 4,6 =	
0. 14,3 + 15,8 =		
1. 3,41016 : 0,78 






1. Vypočítej:


1. 217 . 1,2 : 5,6 =			
1. 1 120 . 1,8 : 6,3 =			

1. Vypočítej:


0. 0,06 : 0,3 =		
0. 0,5 . 0,07 =		
0. 0,09 : 0,3 =		
0. 0,18 : 0,6 =		
0. 0,4 : 0,01 =		
0. 0,28 : 0,14 =			
0. 0,7 + 0,4 + 0,3 =			
0. 0,9 + 0,4 + 0,2 =			
0. 0,8 : 0,4 – 0,3 =			
0. 0,8 : 0,4 – 0,2 =			

1. Vypočítej:


0. 12,326 – 7,931 = 	
0. 87,5 . 42,7 = 		
0. 5,875 : 0,47 = 		
0. 13,725 – 6,082 = 	
0. 0,506 . 4,709 = 		
0. 17,76 : 3,7 = 		
0. 1,932 : 0,84 = 		
0. 30,832 : 8,2 = 		


1. Vypočítej:


0. 57,81 : 4,7 	= 
0. 96,46 : 53 	= 
0. 24,444 : 28 	= 
0. 47,88 : 1,4 	= 
0. 2,4485 : 0,83 = 
0. 1,5696 : 1,8 	= 
0. 271,32 : 0,76 =	

1. Vyděl na 4 platné číslice:


1. 14,0832 : 0,096 =	
1. 45,3888 : 6,4 =		
1. 875,4 : 1,05 =		
1. 973,6 : 7,04 =		



